EARAROBEEIERT — 2 N— IBISH —F 20174128168 (+) 5EFLI5H

m"fﬁ%Zﬁ E UsTE] E# ‘ (Xfg] B ‘ [REmshE] — | & (B) 12000 B
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o = C. 74—0O 13, - . . KER— (EH
i 3| A== T %5 o2 So 1(1_3)3 1-1 37.5| 85.2 | 1 (536) iz
L:ANFXTNY B:ARTIITLR T #Hi%
s 2 | FEEZ 1:13.8 3-2 37.8| 80.7 | 2 504 | /NBE (RR)
21| *=FWw 54.0 @ (—) | tEE=
L:wiNnNyghTr BIXJFyIILHCR THES
> 4 2 | HHEEA 1:14.2 6-5 37.8| 77.3 | 8 474 | BIEXCHE (EH)
3lgligl T &7V 55.0 2 1/2) (o) |HERS
R:A-JZXA2 A4 B:oE1e30 AATINT 7 — L
° H_E : - S (EW)
al1lo| by TT0UT o2 i (12.114/.26) 8-8 37.8| 73.9 | 3 (4i8) e
R: 29T bA—T7—FK-—F B:NyvE—-r—7 BpEEUE e
- 4 2 | BEIES 1:15.0 6-5 38.6| 70.1 | 10 | 464 |fREEfH— (X#)
51714 ¥=—Ya2—-7 54.0 2 1/2) ) | B 7975 77-n
RILNATA—H— BRN=T -2 PO E b N
5 = —onn o ZHER :15. — . . NS fwEL (5T
615010 TYUXS5TY Y 2 =4 (11 135/;3) 10-10 38.3| 676 | 5 (456) iLUJ#E
R:HVXRT 4y 7 B:XR)—bRISL—FK RS
> 5 4 o2 | BUBEHE 1:15.4 8-8 38.6| 66.7 | 4 462 | FHEX (E#)
718115/ F—%v bRAT A52.0 (%) (—) | B
T4 75y BIIVETITRUZR ke
. o2 | HEAA 1:15.8 10-11 38.7|63.4| 5 470 | EKER (EH)
8 6 L—>HIL k 55.0 (2 1/2) (=) T"H‘é
R:TRIAYL—> BYLF( hL— RO
_ o CIUN : - BEHL (ER
9 5|71 Ty TTYT 4 2 &% (17.1955) 47 39.7| 64.4 | 7 (410) s
RNZ—kba1—X BT T7yvTE1Y =ltie)
= N B 2 | BEEA 1:16.0 13-13 [ 38.2| 61.7 | 15 | 444 |H9IE¥ ()
10ff12| 7/v¥>rxlV— 54.0 (11/2) (o) |EBEE
Z:Z2kAXTUE=2 BTN T T7=—kENTp—L
s 2 | RLiR&A 1:16.1 15-14 | 38.0| 60.9 | 11 446 | /IMRILE ()
1 ¢ RIEEREN 54.0 (7€) (=) |rimsE
R:VZRAB—IZR&— B:T7AN LA Eae]
3 . o2 | ARHER 1:16.8 13-14  [38.9| 55.2 | 16 | 420 |GREE (Eifl)
12|7|13| 717z 18>~ 55.0 @ Oy | FmET
R:Zv—bAEY B:YRF—FTI— BRESH 72TV INL—
RO S 4 2 | KHEEE 1:16.9 2-3 4.1 577 | 13 | 446 |EEEE (EH)
EE 4 A N e R 55.0 (3/4) (-) HHEFZ
L:ANZZATNG B:E—bO-X ERNXT7—L
# o2 | BREM 1:17.3 16-16  [39.0 | 51.2 | 9 | 486 |RMAN= (XM
1459 TAF A3 8.0 2172 o |xEE
LILF—J14F— BILA-T>I17F mEx —K
3 Y 4 2 | HEBEBE 1:17.4 4-3 41.3|54.0 | 12 516 | LHEE (EH)
15 8 Ivax>y 55.0 (7€) (=) HHENRF
RiFLIANZ b By ry b —2 A—L— T4 - Ty —LARS
R s 2 | KEHR 1:17.9 12-12 | 40.4| 47.9 | 14 | 422 |XKREEE— (i)
16 7 I7—J14>K 54.0 3) (=) (ﬁ)n‘f79
L:IF7YN—FK B:SELTU—-Yv =% E=
@ 71 L
) 49.8-37.5
NA>ZA L | 12.3-11.2-12.3-12.9-12.4-12.2
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (x3,4)1(5,8)-(14,16)-(2,15) (6,10)-7(12,13) 11,9
43—F+— [3,1(4,8)(14,16)5(2,15)-10,6,7,12(13,11)-9
[ N3
H OB 3 170 714K 1-3 180H e E 1-2 250 JEHE 1-3-16 3,640
8 B 3 110 3-16 850M B = 1-3 330M B 3-1-16 7,610
1 140 1-16 1,6100 | | B B 3-1 410M
16 440M

ABICOVWTRDTEEERROODE. TR LIV,




